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Sample Paper – 2010
Class –X
Subject – Mathematics
1. Show that every positive integer is of the form 2q, and that every positive odd integer is of the form 2q+1, where q is the some integer.
2. Find a quadratic polynomial with the given numbers as sum and product of its zeroes are 0 and [image: image2.png]


 respectively.
3. For what values of ‘k’ with the following pairs of linear equations having many solutions?
[image: image3.png]kx +3y—(k—=3)=0
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4. Find the roots of the quadratic equation [image: image6.png]3x*—2V6x +





5. Check whether 301 is a term of the list of numbers[image: image8.png]5,11,17,23





6. Write in symbolic forms of similar 𝛥’s by using similarity criterion.  
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7. Find the ratio in which the line segment joining [image: image10.png](=3,10) and (6, —8)



is divided by the x-axis.

8. Find the probability of getting a head when a coin is tossed once. Also find the probability of getting a tail.

9. A chord of a circle of a radius 12cm subtends an angle 120˚ at the centre. Find the area of corresponding segment of circle. 

10. Express[image: image12.png]sin67° + cos75°



in terms of t-ratios of angles 0˚ and 45˚
11. Find the 20th term from the last term of the A. P. [image: image14.png]3,813, ..., 275





12. Sides AB and BC and median AD of a ∆PQR are respectively proportional to sides PQ and QR and median PM of ∆PQR. Show that ∆ABC[image: image16.png]


∆PQR.
13. Find the value of ‘k’ for which  the points are collinear A(7, -2), B(5, 1), C(3, K)
14. In ∆PQR, right angled at Q, PQ+QR=25cm and PQ=5cm. determine the values of [image: image18.png]sin P, cosP
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15. A quadrilateral ABCD is drawn circumscribes the circle.
 Prove that AB+CD=AD+BC.
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16. Draw a pair of tangents to a circle of radius 5cm which are inclined to each other at an angle of 60˚
17. A toy is in the form of cone of radius 3.5 cm mounted on a hemisphere of same radius. The total height of the toy is 15.5cm. Find the total surface area of the solid.
18. Water in the canal, 6m wide and 1.5m deep , is flowing with a speed of 10km/hr. how much area will  it irrigate in 30min, if 8cm of standing water is needed.

19. Find the area of the shaded region where ABCD is a 
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  B
square of side 10cm and semicircle and drawn with 
each side of the square as diameter. [image: image20.png](m=3.14)




20. Prove that[image: image22.png]secA(1—sinA)(secA+tand) =1



.
21. Find the roots of the following equation
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22. A motor boat whose speed is 18 km/h in still water takes 1 hour more to go 24 km upstream than to return downstream to the same spot. Find the speed of the stream.
23. If the sum of first 14 terms of an A. P. is 1050. And its first term is 10. Find its 20th term.
24. Prove that the lengths of tangents drawn from an external point to the circle are equal.
25. A survey regarding the heights (in cm) of 51 girls of Class X of a school was conducted and the following data was obtained:

	[image: image25.png]Height (in cm)
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Find the median height.
26. From a point on a bridge across a river, the angles of depression of the banks on opposite sides of the river are 30° and 45°, respectively. If the bridge is at a height of 3 m from the banks, find the width of the river
27. A metallic right circular cone 20 cm high and whose vertical angle is 60° is cut into two parts at the middle of its height by a plane parallel to its base. If the frustum so obtained be drawn into a wire of diameter [image: image40.png]16



 cm, find the length of the wire. 
28. Prove that the ratio of the areas of two similar ∆’s is equal to the square of the ratio of their corresponding sides. By using the theorem prove that if the areas of two similar ∆’s are equal then the ∆’s are congruent. 
29. During the medical check-up of 35 students of a class, their weights were recorded as follows:
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Draw a less than type ogive for the given data. Hence obtain the median weight from the graph and verify the result by using the formula.
30. The sum of two-digit number and the number obtained by reversing the digits is 66. If the digits of the number differ by 2. Find the number. How many such numbers are there?
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